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Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any two parts from each question.

3. Each part carries 7.5 marks.

4. All the notations have their standard interpretation.

5. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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(a) What do you understand by crowding out ? Explain how the following affect

the extent of crowding out :
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(i) the responsiveness of money demand to rate of interest

(i) the responsiveness of money demand to income

(ii) the responsiveness of investment demand to rate of interest.

(b) Derive the equation of the aggregate supply curve from the wage setting and
the price setting relations. Explain clearly how this curve is affected by a

decline in each of the following :
(i) oil price,
(i)} unemployment benefits and

(i) expected price level.

(c) Consider an economy in its medium run equilibrium. Now suppose that the
government passes a stricter law against the exercise of market power leading
to decline in markup over wages. Explain using IS-LM and AD-AS curves
how it will affect price level, interest rate and output in the short run and in

the medium run.
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Suppose, there is a rise in money demand for every level of income and
interest rate. How will this affect the LM and the aggregate demand curve,

if at all ? Explain.

What is the Adaptive Expectations Hypothesis ? Why are adaptive
expectations inefficient ? Show how it allows you to substitute a function of

observable variables for unobservable expectations.

Suppose the proportion of wage contracts that are indexed rises. Explain
how and why it will affect the response of inflation to a given deviation of

the rate of unemployment from the natural rate.
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(1) Why does a one percent change in growth rate of output not lead to
a one percent change in unemployment rate ? Explain. 3)

(i) Calculate the medium run equilibrium values of inflation, growth rate of
output and unemployment rate for the economy described by the

following relations :

Okun’s law : u, —u, =-04g, +12%

Phillip’s Curve Lo o—m =-u + 5%
Aggregate demand : gy, = 8w %, and

Growth rate of nominal money supply = 5%. (4.5)

(b) According to the policy ineffectiveness proposition, anticipated monetary

(c)

(=)

policy changes are neutral with respect to output level but not with respect

to price level. Prove for an economy described by the following equations :

Money supply rule : M, =ay,_, +¢& where E(gl/,_)=0
AS relation : Y=Y, + BF - L F)
AD relation : M, + V= F+y,

According to the traditional approach, disinflation inevitably involves some
rise in unemployment. However according to Lucas this is not necessarily
the case if agents have rational expectations. It is said that this difference of
opinion is essentially due to the difference about the way expectations are

formed. Do you agree ? Explain.
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AD & M, +Vi=F+y,
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What do you understand by forward premium in the foreign exchange market ?
Explain using examples how the value of forward premium is affected by

covered interest arbitrage.

Why is it that following a monetary expansion, exchange rate always

overshoots its new long run equilibrium level ? Explain.
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What do you understand by the J-curve effect ? Explain the reasons for this

eftect.

fRf ¥ AR ¥ R SRR (forward premium) ¥ M N wwER § 7
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Suppose that a nation’s nominal GDP = 100, ¥ =4 and M_= 30. Does this
nation have a surplus or deficit in the balance of payments ? Explain why,
Explain how it will be corrected in a fixed exchange rate system, according

to the monetary approach to balance of payments.

Consider an economy with perfectly mobile capital, fixed price level
and flexible exchange rate. Explain how an expansionary monetary policy
will affect output. Why is this type of policy called a beggar-thy-neighbor
policy ?

Distinguish between the following: adjustable peg, crawling peg and managed

floating exchange rate systems.

HA S R v g & Hifee TR wRe IR AR = 100, V=4 7 M, = 30.
U & A AW N Sy 2 wrer ? el w1 | el wee dw®
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AN | 59 YT & A Y 98 - = - W - S A (beggar-thy-neighbour

policy ) =i =T e 8 7

(@) frf Rfwm w & Fuf 6 FafhRe gofoal ¥ g wae Fifd | FmieE
Heafar (adjustable peg), T g2 Weafda (crawling peg) & WEUAd:

-5

witelt fafa e gomel { managed floating exchange rate system) |
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